F332 Exam questions that tend to come up
*Annotate with additional notes.
* - must add to get a mark
Bromomethane and chloromethane are both present in the atmosphere. Explain how chloromethane causes ozone depletion in the stratosphere and suggest why Bromomethane has a lower ozone depleting potential than chloromethane.
· Chloromethane does not break down in the troposphere but photo disassociates in the stratosphere.
· UV from the sun breaks down chloromethane to produce chlorine radicals
· *Products of chloromethane catalyse the breakdown of ozone
· C-Br bond is weaker than C-cl bond
· There Bromomethane breaks down in the troposphere
Explain the source of the infrared radiation absorbed by carbon dioxide and the possible link between increases concentrations of carbon dioxide in the troposphere and global warming.
· Sun emits UV radiation
· Earth re-emit UV as infrared radiation
· Carbon dioxide absorbs infrared radiation and makes bonds vibrate more
· Vibration energy turns into kinetic energy which raises the temperature
· *The more CO2 molecules, the more infrared radiation absorbed
Define electrophile
· Partially positively charged
· Bonds by accepting a pair of electrons
Give two reasons why carbon monoxide is a polluting gas
· Toxic
· Causes photochemical smog
Explain what is meant by the term radicals
· A particle with one or more unpaired electrons
Use mechanisms shown to explain why both these compounds are formed
· The carbocation is attacked by a nucleophile
· Both Br- and Cl- attack carbocation
· Attack by Cl- nucleophile produces compound B
Describe how students could remove the acidic impurities from the liquid
· Shake with sodium hydrogen carbonate
Name a drying agent they could use
· Anhydrous sodium sulphate
Explain in terms of intermolecular bonds why chlorine is a gas at room temperature and bromine is a liquid at the same conditions and explain how intermolecular bonds arise.
· Instantaneous dipole-induced dipole
· Electron movement in the molecule creates an uneven distribution of charge 
· A dipole is induced in the neighbouring molecule
· [bookmark: _GoBack]Bromine intermolecular bonds are stronger
· More energy needed to break intermolecular bonds in bromine.

